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 .למידיםת 48 –מורים, ו  8  א.   (1

 שקלים. 34 .1ב      

 שקלים. 36.9 .2ב      

 

 B(6,0) , F(0,4)(   א. 2

 y = 1.5x-9 ב.      

 1Ax=0ג.       

 26ד.       

 C(-6,8)ה.       

 50ו.       

 

 R=√10 .1א(  3 

𝑦) +.2א       − 6)2 =  10   (𝑥 − 4)2 

 -  . 1ב      
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 y = 3x+4. 2ב      

 B(0,4)ג.         

   P(3,13)       ד.        

 BC=7.5. 1ה      

 33.75. 2ה      

 

 X ≥ 0(  א. 4

 (0,0)ב.      

 max(4,10) .ג      

  B(16,0)( 3ד. תשובה )      

 1.25-. 1ה      

 y = -1.25x+20. 2ה      

 



 
 

 

 B(3,2)(  א. 5

 8  ב.     

 

 –x9 + 2x - 15 (  א.6

 A(5,5) ב.     

 .25ג. לא יתכן, מכיוון שהשטח המקסימלי הוא      


